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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Summer Examination-2017 

 

Subject Name : Maintenance Engineering   
 

Subject Code : 2TE06MTN1                      Branch : Diploma(Mechanical) 

    

Semester : 6           Date : 19/04/2017         Time :2:30 To 5:30               Marks : 70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 

 

(14)  

 a)  Floor, window glass cleaning and washing, repairing of doors & windows etc. are the 

examples of …………. 

A) Protection of plants                                          B) Maintenance of store    

C) Senatorial & service facility equipment           D) Other services 

 

 b)  Full form of MAPI method is 

A) Machinery & allied production institute   
B) Machinery & allied products institute 

C) Machineries & allied production institute  

D) Machineries & allied products institute 

 

 c)  Equation of economical service life is 

A) N=2(C-G)/S          B) N= 2(G-S)/C      

C) N=2(C-S)/G           D) N=G(G-S)/C 

 

 d)  Which of the following is not a fixed spanner? 

A) Plate spanner     B) Ring spanner     C) Adjustable spanner    D) Box spanner 

 

 e)  ‘Improved lubrication’ is a factor of  

A) Service life                      B) Predictive maintenance    

C) Maintenance cost            D) None of these  

 

 f)  The destruction and deterioration of metal due the chemical and electro chemical 

effects of atmosphere is called……… 

A) Wear     B) Corrosion    C) Lubrication   D) Greasing  

 

 g)  …….. corrosion first appear on certain part of the surface & then spreads over the 

whole surface. 

A)  Surface corrosion        B) Erosion corrosion  
C) Uniform corrosion         D) Galvanic corrosion 

 

 h)  Secondary method of corrosion prevention is 

A) Chemical prevention      B) Cathodic prevention   
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C) Distillation prevention    D) Erosion prevention  

 i)  Which method is pitting type corrosion? 

A) Erosion corrosion           B) Crevice corrosion     

C) Galvanic corrosion         D) Selective corrosion  

 

 j)  The symbol of ‘decisions controlled by mankind’ in a decision tree is 

A) Rectangle     B) Circle    C) Square   D) Triangle 

 

 k)  Factors to be considered in periodic inspection is 

A) Misalignments                B) Work involved in each stage 

C) Bad workmanship           D) Rough finish on surfaces 

 

 l)  Advantage of preventive maintenance is 

A) Unit cost of production reduces    B) Productivity of industry increases 

C) A & B                                            D) None of the above 

 

 m)  In general purpose machine, repair complexity of centre lathe is 

A) 20        B) 15       C) 10       D) 5 

 

 n)  Which of the following is overhauling mechanical component? 

A) Chuck    B) Operating valve    C) Gear     D) Piston 

 

 

Attempt any four questions from Q-2 to Q-8 

 

Q-2  Attempt all questions (14) 

1  Define “maintenance engineering”. And list aims of maintenance engineering. 7 

2  List the types of maintenance and explain predictive maintenance 7 

    

Q-3  Attempt all questions (14) 

1  List down types of lubrication methods. Explain splash and gravity lubrication. 7 

2  List types of corrosion and explain any one. 7 

    

Q-4  Attempt all questions (14) 

1  Prepare decision tree for centrifugal pump not delivering water. 7 

2  Define preventive maintenance and enlist the steps involved in preventive 

maintenance programme. 
7 

    

Q-5  Attempt all questions (14) 

1  „A scooter does not start‟ enlist logical steps for repairing. 7 

2  Explain the procedure of periodic inspection of Centre lathe. 7 

    

Q-6  Attempt all questions (14) 

1  Define reconditioning. Enlist advantages of reconditioning. 7 

2  Explain need of retrofitting. 7 

   

 
 

Q-7  Attempt all questions (14) 

1  Write types of recovery methods and explain any one. 7 

2  Define foundation. State importance and salient features of boiler foundation. 

 

 

7 
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Q-8  Attempt all questions (14) 

1  Define accident. Write types of accident and explain any one. 7 

2  State the duties of safety engineer. 7 
 

g&jrit) 

Q-1  વાચો વલકલ્઩ ઩વદં કયો.    
 

(14)  

 a)  પયવ, ફાયીના કાચ ધોલા-વાપ કયલા, ફાયી-ફાયણાનુ ંવભાયકાભ એ ળાના ઉદાશયણો છે? 

A) પ્રાન્ટના ંયક્ષણના                                           B) સ્ટોયની જા઱લણીના ં   
C) વેનીટોયીમર અને વેલા સવુલધા વળંાધનના ં   D) ફીજી વેલાઓના 

 

 b)  MAPI નું પરંુૂ નાભ જણાલો. 
A) Machinery & allied production institute    

B) Machinery & allied products institute 

C) Machineries & allied production institute  

D) Machineries & allied products institute 

 

 c)  ઈકોનોવભકર વવલિવ રાઈપનુ ંસતૂ્ર કયુ ંછે? 

A) N=2(C-G)/S    B) N= 2(G-S)/C     C) N=2(C-S)/G     D) N=G(G-S)/C 

 

 d)  નીચેનાભાથંી કયુ ંફપક્વડ (જડ) સ્઩ાનય(઩ાનુ)ં નથી? 

A) પ્રેટ સ્઩ાનય     B) યંગ સ્઩ાનય     C) એડજસ્ટેફર સ્઩ાનય    D)ફોક્ષ સ્઩ાનય 

 

 e)  ‘ઈમ્પ્રલુડ લબુ્રીકેળન’ ળાનો ઘટક છે?  

A) વવલિવ રાઈપ                  B) પે્રડીકટીલ ભેન્ટેનન્વ    

C) જા઱લણીનો ખચચ            D) એક ઩ણ નફશ  

 

 f)  લાતાલયણની યવામણણક અને વલદ્યતુ યાવામણણક અવયોને રીધે ધાતભુા ંજે ખલાણ અને 
ધોલાણ થામ છે તેને શુ ંકશ ેછે? 

A) ઘવાયો      B) કાટ      C) લબુ્રીકેળન      D) ગ્રીવવંગ  

 

 g)  કમા પ્રકાયનો કાટ ઩શરેા થોડા બાગભા ંદેખામ છે અને ઩છી આખી વ઩ાટી ઩ય પેરાઈ 
જામ છે? 

A) વ઩ાટી ઩યનો કાટ         B) ધોલાણજન્મ કાટ    

C) વનમવભત કાટ              D) યવામણણક કાટ 

 

 h)  કાટ ને અટકાલલા ભાટેની ગૌણ ઩દ્ધવત કઈ છે? 

A) યાવામણણક યક્ષણ          B) કેથોડીક યક્ષણ    

C) નીસ્મદંીત યક્ષણ          D) ધોલાણ થી યક્ષણ  

 

 i)  કઈ ઩દ્ધવત ઩ીટીન્ગ પ્રકાયનો કાટ છે? 
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A) ધોલાણજન્મ કાટ              B) ક્રીલાઈવ પ્રકાયનો કાટ     

C) યવામણણક કાટ               D) વવરેક્ટીલ પ્રકાયનો કાટ  

 j)  વનણચમ વકૃ્ષભા ં‘ભાનલ દ્વાયા રેલાતા વનણચમો’ નો વકેંત કમો છે? 

A) રફંચોયવ     B) ગો઱      C) ચોયવ       D) વત્રકોણ 

 

 k)  ઩ીયીમોડીક ઇન્સ્઩ેકળનભા ંધ્માનભા ંરેલાભા ંઆલતુ ં઩ફયફ઱ કય ુછે? 

A) વભવઅરાઈનભેન્ટ            B) દયેક તફકકાભા ંકાભનો વભાલેળ થામ છે 

C) ખયાફ કામચ઩દ્ધવત             D) વ઩ાટી ઩ય યપ પીનીળ 

 

 l)  વપ્રલેન્ટીલ ભેન્ટેનન્વનો પામદો કમો છે? 

A) ઉત્઩ાદનના ંયવુનટ ખચચભા ંઘટાડો થામ છે    B) ઉદ્યોગની ઉત્઩ાદકતા લધે છે 

C) A & B                                                     D) એક ઩ણ નફશ 

 

 m)  વાભાન્મ શતે ુભળીનોભા,ં વેન્ટય રેથની યી઩ેય કોમ્પ્પ્રેક્વીટી કેટરી છે? 

A) 20        B) 15       C) 10       D) 5 

 

 n)  નીચેનાભાથંી કમો ઓલયશોણરંગ ભીકેનીકર ઘટક છે? 

A) ચક    B) ઓ઩યેટંગ લાલ્લ     C) ગીમય     D)઩ીસ્ટન 

 

 
Q-2 to Q-8 mi>Y) ki[e pN cir p\âi[ lKi[  

 

પ્ર-૨  નીચેના પ્રશ્નોના ઉત્તય આ઩ો. (14) 

૧  ભેઈન્ટેનન્વ એન્જીનીમયંગ ની વ્માખ્મા આ઩ો. ભેઈન્ટેનન્વ એન્જીનીમયંગના ંશતેઓુ રખો. 7 

૨  ભેઈન્ટેનન્વના ંપ્રકાયો રખો અને પે્રડીક્ટીલ ભેન્ટેનન્વ વભજાલો. 7 

    

પ્ર-૩  નીચેના પ્રશ્નોના ઉત્તય આ઩ો. (14) 

૧  લબુ્રીકેળનની ઩દ્ધવતના પ્રકાયો રખો. સ્પ્રેળ અને ગ્રેવલટી લબુ્રીકેળન વભજાલો. 7 

૨  કાટ ના પ્રકાયો રખો અને કોઈ ઩ણ એક પ્રકાય વભજાલો. 7 

    

પ્ર-૪  નીચેના પ્રશ્નોના ઉત્તય આ઩ો. (14) 

૧  ‘વેન્રીપયગુર ઩઩ં ઩ાણી નથી ચડાલી ળકતો’ તો તેના ભાટેનુ ંડીવીઝન રી તૈમાય કયો. 7 

૨  વપ્રલેન્ટીલ ભેન્ટેનન્વની વ્માખ્મા આ઩ો અને વપ્રલેન્ટીલ ભેન્ટેનન્વ કામચક્રભના સ્ટેપ્વ રખો. 7 

    

પ્ર-૫  નીચેના પ્રશ્નોના ઉત્તય આ઩ો. (14) 

૧  ‘ભો઩ેડ ચાલ ુથતુ ંનથી’ તો તેને યી઩ેય કયલા ભાટેના તકચફદ્ધ સ્ટેપ્વ રખો. 7 

૨  વેન્ટય રેથ ના ં઩ીયીઓડીક(વનમત વભમગા઱ાભા ંથતા) ઇન્સ્઩ેકળનની યીત વભજાલો. 
 

7 

    



Page 5 || 5 

 

 

પ્ર-૬  નીચેના પ્રશ્નોના ઉત્તય આ઩ો. (14) 

૧  યીકાન્ડીળનંગની વ્માખ્મા આ઩ો. તેના પામદાઓ રખો. 7 

૨  યેરોપીટંગની જરૂફયમાતો રખો. 7 

    

પ્ર-૭  નીચેના પ્રશ્નોના ઉત્તય આ઩ો. (14) 

૧  યીકલયી ભાટેની ઩દ્ધવતના ંપ્રકાયો રખી કોઈ ઩ણ એક વભજાલો. 7 

૨  પાઉન્ડળેનની વ્માખ્મા આ઩ો. ફોઈરયના ંપાઉન્ડળેનના ંઅગત્મના અને ખાવ રક્ષણો રખો. 7 

    

પ્ર-૮  નીચેના પ્રશ્નોના ઉત્તય આ઩ો. (14) 

૧  અકસ્ભાતની વ્માખ્મા આ઩ો. અકસ્ભાતના પ્રકાયો રખી કોઈ ઩ણ એક વલ઴ે વભજાલો. 7 

૨  વરાભતી ઇજનેયની પયજો રખો. 7 

 


